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B / Cachememfree  Free cache memory in M8 /A - A 7,508 Kl =

B / cpuuser User CPU Usage (%) NIA - NAA 0 B :=

B / disk home free Free disk Percentage of home partition N/A - NIA 18 B :=

= é’ disk_root_free Free disk Percentage of root partition NIA - N/A 7 B :s

B / diskvarfree Free disk Percentage of var partition N/A - NIA 16 B :=

B / memused Used memory in KB postprocessed to be in MB NAA - N/A 480.2 B :=

= £ ntpoffset status ntp offset status @ NIA - NJA 1.0 B :=

= j‘ postgresql status  postgresql status N/A - NIA pg_ctl: serv W B :=
01 &i&

© 1% & Hostaive Check # host is alive using ICMP ping che ck. n A- A 1 B 28
02 NTP

= (}' ntp offset status ntp offset status n /A - NIA -0 B 38
03, :PU

B / cpuuser User CPU Usage (%} n bO/70 - 100/91 0 B 3=
04. 1EM

BB / cachememfree  Free cache memory in M8 O0/500 - 499/100 7,509 B =8

B / memused Used memory in KB postprocessed to be in MB /A - NIA 478.0 B 3=
05. )ISK

& / disk home free Free disk Percentage of home partition B9/80 - 100/90 18 B 38

B /7 diskroot free Free disk Percentage of root partition £9/80 - 100/90 17 B ==



